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12.1

1. oum 8mden Sewesis.
I. cos46 =0

Il tan (%) -0

L sin? (ﬁ) ~0

2

I. cos46 =0
40 = (2n+ 1)% nez

9=(2n+1)§

[I. tan (?) =

50

2 = N1 Nez
_Znn
5

. sin?(2) =0

. (70)_0
sin >) =
70
_— Z
> nmw ne
e_Zn

= 711'
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2. 55 8@WO@WOE Bden Swe® Bwesys.

l. cosB=‘/?§
II. tan@ =1
I1l. cosesB =2

l. cose=§

cos 0 = cos (g)

0 = 2nn i%nez

II. tan0 =1

tan 8 = tan (%)

(4
0= nn+Znez

III. cosecf = 2

o1
sin 6 =3
sinf = sin(%)

0 =nr+ (D" (%) Nnez
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3. sn HJomiwd®hm wmoen Swesin.

[. cos36 = —%
II. tang = \/§
. (6) _ _\3
[II. sin (E) =

2

IV. sec (ﬁ) =2

2

[. cos36 = 1
2

T

cos 38 = cos (Tl’ — 5)
2T

cos(368) = cos (?)

2T
30 = 2nmw + ?nez

_2n 21T
—3"™%

9_ +T[

z—nn 3nez
2T

9=2nn+?
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L sin (9) S
3 2

sin (g) = —sin (g)
sin (g) = sin (— %)
g =nm+ (—1)" (— g) nez
6 =3nmt—(—1)"n

IV. sec(? =2

(39) _ 1
cosS 5 = 3
36 T
cos (7) = CosS (§)
360 —> + T
> nmw + 3n6Z
g = 4n + 2T
—3T™TT
4. BescsIm.

. 4sin?6=3
I. 4 cos?(20)=1

L tan? (g) 1
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. 4sin?6 =3

3
'29=—
sin 2
g (VY
sin“ 0 = >
T
20— a2t
sin“ @ = sin (3)

T
0= nnignez

II. 4cos?(26)=1
1
cos?(26) =

Z 2
cos?(26) = (%)
cos?(26) = cos? (g)

2
20 =nm + §nez

+

(ua}

I

S
NI
NE)

I tan? (2) =
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5. suD Jomiend®Am 8moen DR 50 Dee® ©ewsIm.

[. sin36 =sinf
[I. sin2804+cosf@ =0
III. tan(368) = cot

[. sin36 =siné@
30 =nw+ (—1)"6
03— (—D") =nm nez

nr

=B

I[I. sin280 +cos@ =0
cosf = —sin 260

T

cos 8 = cos (E+ 29)
T

0 = 2nm + (E+29)

T
0=2nniEiZG
T
6(1+2) = Znniinez
_4nnin
- (2+4)

III. tan(36) = cotfh
/i
tan(30) = tan (— — 9)

2
T
39=nn+(§—9)nez
449—nn=E
2
9—n£+E
4 8
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6. sum Jowdewd®hm wdmden SwesInm.

I.  sin(20) + sin(40) + sin(60) =0
I.  sin(@) + sin(260) + sin(30) = cos(6) + cos(20) + cos(36)
IlI. 2cos?6 +3sinf =0
IV. sin?8 — cos28 = 2 —sin 20
V. 3sin?6 — 2sinf.cos@ + 3cos?0 =2

I. sin(20) + sin(40) + sin(60) =0
sin(20) + sin(60) + sin(40) =0

20 + 660 20 — 660
ZSin( > ).cos( > )+sin(46)=0

2sin(40).cos(—20) + sin(40) =0
sin(40)[2cos(20) +1] =0

sin(460) =0 owd cos(20) +1 = 01

40 = nm nez cos(20) = —=
T 21r

0 =n— _ m
4 cos(20) = cos (n 3)

2T

cos(20) = cos (?)

2T
20 = 2nmw + ?nez
T

6 =nm+
Tl7T_3
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II. sin(@) + sin(260) + sin(30) = cos(@) + cos(20) + cos(36)
sin(@) + sin(360) + sin(260) = cos(@) + cos(30) + cos(26)
2 sin (6 +239) .Cos (6 _236) + sin(20) = 2 cos (6 —;39).cos (9 _239) + cos(26)
2sin(20).cos(—0) + sin(20) = 2 cos(26). cos(—0) + cos(26)
sin20[2 cos @ + 1] = cos20[2 cos O + 1]
[2 cos 8 + 1][sin 20 — cos20] =0

2cos8+1=0 o®»d sin260 —cos260 =0
1 cos 260 = sin 26
c059=—5
27T =
c059=cos(?> tan(26) = 1
2 _ n
0 =2nm + ?nez tan(26) = tan (4)
T
29=nn+znez
o - 7l'+7l'
—"77%
II. 2cos?0+3sinf =0
2(1 —sin?8) +3sinf =0
2 —2sin?8 +3sinf =0
2sin?0 —3sinf —2=0
(2sin8 +1).(sin0 —2) =0
2sinf+1=0 owd sinf = 2
_ 1
sinf = ——

2
sin @ = sin (— %)
6 =nm+ (—1)"(="/¢)
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IV. sin?8 —cos26 = 2 —sin 26
sin?0 — (1 —2sin?0) = 2 — 2sinf.cos O
3sin?0 + 2sinf.cosO = 3
3sin?8 + 2sinf.cos O — 3(sin? 8 + cos? ) = 0
3 sinZd + 2sinf.tos# — 3sin?@ — 3 cos?0 =0
cos[2sinf —3cosfB] =0

cosf =0 o®»d 2sin@ —3cosf@ =0

T 3

9 = (2n+ 1)57’162 tane =E
tanf = tana = Enez

0=nm+a

V. 3sin?8 —2sinf.cosf8 + 3cos? 6 =2
3sin?@ — 2sinf.cos O + 3 cos? O = 2(sin? O + cos? 9)
3sin?0 — 2sinf.cos B + 3cos? O = 2sin? 0 + 2 cos? @
sin? @ — 2sinf.cos 6 + cos? 0 =0

tan’ —2tanf +1=0 cosf =0
(tanf—1)2=0
tanf =1
T
tan 6 =tan(Z)

9 +Z
= nrm —MNe€ez
4
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7. BesesIm.

I. +/3(tan6 +tan260) + tanf.tan 26 = 1
[I. tan(20) + tan(30) + tan(5) = tan 26.tan 30.tan 56

I. V3(tan6 +tan26) + tan6.tan26 = 1

V3(tan 6 + tan 26) = 1 — tan . tan 26
tan 6 + tan 26 1

1 —tan6.tan26 _ﬁ

tan(@ + 26) =

&=

tan(360) = tan(

St
N—

T
30 =nmw+ gnez

0_ 7T+7T
~"371g

II. tan(20) + tan(30) + tan(560) = tan(260).tan(360).tan(50)

tan(260) + tan(360) = —tan(50)[1 — tan(38).tan(50)]
tan(26) + tan(360) B

1 —tan(360).tan(560)
tan(26 + 36) = —tan(560)
2tan(560) =0
tan(50) = 0
50 =n

—tan(56)

0 = Vs
—TlSTlGZ
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